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2.2

HDL
OpenMP
RTL
RTL
(CFG)
C 2
while
#0 CFG 5
7oo=(24y 7o=(24)y 2 i
4 0 while
#1
6 #3 #3
CFG 89 #1
inti,j; O: Auto Obit : <function> nain( )
i=0; 1: AutoObit : null
while(1){ 2: Auto Sgned 32bit : i
j=i+1; 3: Auto Sgned 32bit : |
} 4. Auto onst Sgned 32bit @ *4 :=0
c 5: Auto Sgned 32bit : = 24)
@ 6 : Auto onst Signed 32bit : *6:=1
7. Auto onst Signed 32bit : *7 :=1
Argunent (1) 8: Auto Sgned 32bit : +H 27)
{ 9. Auto Sgned 32bit : = 38)
-#0 [ [5]] ->#
“#l [ [ 6] ] ->6?2#3: #
-#2 [ ] < #0
-#3 [ [ 8]1[9]] ->#
}
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0 0 0 g = (0+1600) 12
=40
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3.3 HDL
3.3.1 HDL

(1)

module to_edge( iSTART, oEND, oADDR, oDATA, IDATA, oRD, oWR, iEN, iRUN,
iSTALL, CLK, XRST);

module

( )




(2)

parameter
parameter

parameter

P_INIT

parameter
parameter
parameter

parameter

STALL

parameter
parameter
parameter

parameter

reg [31:0]i;
reg [31:0]j;
reg [31:0]l;

Auto Const Signed Xbit : * =
ConstNum

[31:0]ConstNumOne = 32'd1;
[31:0]ConstNum11 = 32'd0;
[31:0]ConstNum13 = 32'd256;

P_END , P.STATE (
PINIT  =84do;
PEND  =8di;

P_STATE12 =8'dz;
P_STATE14 =8d83;

_ARRAY _ R
P_STATE44_ARRAY_RO = 8'd171;
P_STATE44 ARRAY R1 = 8'd172;
P_STATE44_ARRAY_R2 = 8'd173;

P_STATE44_ARRAY_STALL =8'd174;

), Auto Signed Xbit :

reg [31:0]m;




(3)

always @ (posedge CLK or negedge XRST) begin
if(IXRST) begin
CurrentState <= P_INIT,;
end else begin
case(CurrentState)
P_INIT : begin
ifiISTART == 1'b1)
CurrentState <= P_STATE12,;
else
CurrentState <= P_INIT,;
end
P_STATE12: CurrentState <= P_STATE14;

STALL

(4)

add_wire

always @ (posedge CLK or negedge XRST) begin
case(CurrentState)

P_STATE12 :i<=ConstNumll,;

P STATE15 :i<=ADD1 RESULT;

P_STATEL17 : j <= ConstNum16;

P_STATE20 : j <= ADD1_RESULT;

port




(5)

(+,-,*,/,&,etc) assign

case wire

+
wire [31:0] ADD1_RESULT; //
wire [31:0] ADD1_A, ADD1_B;//

assign ADD1_RESULT =ADD1 A+ ADD1_B;
assign ADD1_A = (CurrentState==P_STATE15) ?i:

(CurrentState==P_STATE?20) ? j:

assign ADD1_B = (CurrentState==P_STATE15) ? 32'd1.:
(CurrentState==P_STATE?20) ? 32'd1.:

ADD1_RESULT  wire

3.3.2
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4.2 Hough
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centerX,centerY
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Xilinx ISE 9.1i
PC Intel Core2 duo 2.4Ghz,Memory 2GB
ModelSim XE 111 6.1e
2
Sobel 256x 256 0 255 pgm
2 3
HDL
2 Sobel
1 2
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1.00 2.00
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3 Sobel

1 2
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